@ x%y

® —3x%y?

® 122



ohe A ARG o, T2

(4xt =5x3 4+ 3x2 —dx+ 1)+ (x> —x+ 1)

@ 4x2-3x+2 @ 4x2-x-2 @ 4x2-2x+1

@ —4x2-x-2 ® —4x2+x-2




3. (4+30)2-(4-30)2 9 g2

@o @ 24 ® 48 @ 24i ® 48i



A% ko oz

o 27 ste

A x2-3x—(k-1)=0°] A

ki

17}

4.

@ 1 ® 2

® 0



1 1
—x-|——y:2 @

{0.6x+0.5y —28 ---@
3572

@ (2,3) @ (-2,3) ® (3,2)
@ (3,-2) ® (-3,-2)



ojn

Sx+4>x

® 5

@ 4

® 0



7. A<B<CEYwAE & o= 227

=~ A {

i
A<B A<B A<C
O ®
A<C B<C B<C

@)
@ B<A 5
B<C

A<B
C<B



8. oW 523w oli 8 wiw 32 Wk A, o] S04 55 w1 6
Wl 517 24 BTk ATk Gt olw 40 M9lE £& AL

37 4
®8<x<§ ®8<x<§O @9<x<%7

4
@9<x<?0 @9<x<43—3



L. [e)
T%\q—é‘

wo] e 2] 7} x—2019ct

o=
R = eV



10. oA f(x) =% +ax® + 35 A x - 15 o] BojA s 4
o] g AshA?

® -2 @ -4 ® -6 @ -8 ® -10



o
Hlo
,_m.o

Tod

A3 +2x+1=a(x-1)2+b(x-1)+col xl &

o

11.

@ 8 ® 6

@ 2

@ 3



SRR Anb S [ XX

12. x=1998, y=4331 & o, :
y—xi x-+Yyi

Do @1 ® -1 @ i



FEAF i =a+Bb-1)i, zo=(b+1)-5i° thol™] z; =z 7}
AHE o, A4 a, b0l ot a + b o] 27
® 3 @ 4

® 5 @ 6



14. oA x2 +2x + 4 S YapA o] Zo 7 9117 slolal,

(x+1 - V3i)(x+ 1+ V3i)
(x+1-V3)(x+1+ V3)
(x+ 1= V2i)(x + 1+ V2i)
(x+1-V2)(x+1+ V2)
(x—1- V2i)(x =1+ V2i)

®© ® ©@ ® ©



y=-5x>+20x+3=x=a¥ o, &b

@ 22 ® 23 @ 25

=
=

s

1_—'_.
-

o oa+b



(x-2)2-3

@y

O y=-2x+12-4

®y

—(x+1)2+3

@ y=

-2(x-1)2+3



The B 1+ 7} Shte] oln] 532
17. =

1)
X2 = 2x+2)(x% - 2x +

2o2x+2)(x-1)(x+1)

@ (
@ (
@ (®-1)(x>-2x-1)
@ P+ (x-1)(x+1)
® (

1
P+ 1)(x2-2x+1)



18.

ol
2
[\



19.

ojzrate] Al47t 191
T+ 1% -2x Y

D 2x2+3x+2

@ 2x2+3x-2

@ 2x2-3x-2

® x2-3x+2

® x2-3x-2



oA
R(x) 2}

f(x) =xt+ax® +x+25 g(x) = 3 +bx+2 =2 Uie Y27}
Tt g(x) 2 R(x) o] H g7t x4 2L W, ab ] G127

@ 10 ® 12 @ 15 ® 16



21.

FEHM y = 22— 2x+ 4k O] T IS} x Z3} A2 ThtA] oFL o] &
o 915 b7

1 1 1
®k<% ®k<—% ®k>1
@ k<~ G k>-—-

4 4



22. ALy, y7t2x4+y=45 W4T

U’H, x2_|_y294 ﬁ%%}:_‘%— ?—g}tﬂ{)



D x=-—2Fx=-3EEx=-2++3

)
=

)
=

1)
H

x=-1+V6

A

® x=-24V5 &
@ x=-3++5i

6i

=x=-24+

B

® x=-1F=x=-5FE -3+6



AT AA] 13 4 ax? —8x+4b =0°0] L x =2
o] gro g durA Azl A2

it

Hoes g5 a, b

]

Da=-1,b=1 @ a=0,b=2 @ a=-1,b=3

@ a=0,b=14 ®a=-2,b=5



25. AT EA P ta®-b=02FZol1+i LW, a+b 2 27

@® -3 @ -2 ® -1 @ 0 ®1



